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QUIZ MASTER

Grand Quiz(MTH401)

100% correct solution.
For more information you can visit my channel and for
any type of help related to CS619 you can contact me.

YOUTUBE CHANNEL:
https://www.youtube.com/channel /UCINsFwDiB62SValCcPDZbRQ/playlists

FACEBOOK GROUP:
https://www.facebook.com/groups/923887914750307
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM, 03 January 20.
Question # 1 of 30 ( Start time: 09:45:25 AM. 03 January 2021 ) Total Marks
The combination of the Newton's second law and the Hook's law could lead to a differential equation governing to the motion of a mass

attached to spring i.e. mation.

Select the correct option

\v
X
S 4

O

rotational %

translational
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S 4
2 MTH401:Grand Quiz 5
S 4
2 Question # 2 of 30 ( Start time: 09:45:44 AM. 03 January 2021 ) 5
2: jz—gf + y* = 0is a ——differential equation of order---. 5
S 4
S 4
S 4
S P4
S Select the correct option 1
S \Y; 2
2: linear, 4 v 5
S P4
3 © O 2
S 4
S P4
> lingar, 3 ]
3 o 4
Q

? 4
Q <
$ ; 2
) nan-linear, (
Q <
Q O <
Q <
Q <
) nan-linear, 3 (
QS ) <
Q L <
Q <
Q <
QS <
QS <
QS <
D <
QS <
> ' 4
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MTH401:Grand Quiz Quiz Start Time: 09:45 AN

Question # 3 of 30 ( Start time: 09:45:59 AM. 03 January 2021 )

Which of the following is first order linear equation in unknown variable y7

Select the correct option v ® Reload
dy

r— - 1 =

O 0 o + (sinz)y=cosz

dz .
y— + (siny)z =cosy

T & @
E_'_{ x } —

O ydy siny) T =cosx
dz (sinz)z =

O ydy +(sinz)x =cosy
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S P4
S P4
2 MTH401:Grand Quiz Quiz Start Time: 09:45 AM, 03 January 20 5
S Question # 4 of 30 ( Start time: 09:46:34 AM. 03 January 2021) Total Marks 1
S 4
S Consider the non - homogeneous linear differential equation, a,y™ + a, 19™ V4., 4@y’ + apy = g(z). [
§ If the input function, g(z) = 3z° — 2, then the assumed particular solution yp could be 5
S P4
z Select the correct option 5
S P4
: 0 * 5
S P4
S P4
S Az + B P 4
. TR :
»

S 2
2 = & Az’ + Bz +C 5
> - 4
s 2
» Y 4
S Az' + Ba* + Cz + D 4
3 O 4
Q <
Q 14
Q 14
Q 14
Q 14
Q 4
Q 4
Q 14
2 4
2 14
2 14
2 14
2 4
> ' 4
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MTH401:Grand Quiz Quiz Star

Question # 5 of 30 { Start time: 09:46:49 AM. 03 January 2021 )

In exponential model for the population growth

P(t) = Py Ifk <0, then lim P(t) =

Select the correct option

1 Qsév
oS
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MTH401:Grand Quiz Quiz Start Time:

Question # 6 of 30 ( Start time: 09:47:10 AM. 03 January 2021

Which of following would be a constant solution of the separable differential equation: ;—dz = g*t¥ 7

Select the correct option I
y=0 v\/
y=1

Mo constant solution exist

b d
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MTH401:Grand Quiz

Question # 7 of 30 { Start time: 09:47:26 AM. 03 January 2021)

Which of following are explicit solutions of the differential equation: d—: = —i.

Select the correct option

— 4TItz V
5 y=+/I+=z %v
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MTH401:Grand Quiz Quiz £

Question # 8 of 30 ( Start time: 09:47:43 AM. 03 January 2021 )

Which of the following would be a particular solution of the differential equation: :—i =47

Select the comrect option

NG Q\@v

®
b _d
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MTH401:Grand Quiz Quiz Start Time: 09:45 2

Question #9 of 30 ( Start time: 09:45:00 AM, 03 January 2021 )

. . . . . d .
The family of parabolas y2 = 4ax are solutions of the differential equation: Ey = = for—- value(s) of a.

Select the correct option

g e
infinite
ke

. ®
; %@
. unique Q‘

no
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03

Question # 10 of 30 ( Start time: 09:48:17 AM, 03 January 2021 )

2 3
The order and degree of the differential equation:z = 1 + % + % (%) + % (%) + - - - { Hint: Apply

] 3
1+t+ 5+ 45+ =€)

Select the cormrect option

both are one.

\
- v
are one and undefined respectively. 0%

are undefined and one res;:.eé
both are undefineﬁ‘ =
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S 4
2: MTH401:Grand Quiz 5
S 4
2: Question # 11 of 30 ( Start time: 09:48:41 AM. 03 January 2021 ) 5
2: Which of the following function would satisfy: % = % == %’f ? 5
S 4
S 4
S 4
S P4
z Select the correct option 5
S = 4
S O 4
S 4
S \Y; $
>

‘:\ y = Axe” 5
>

S O O 2
> 4
$ 4
$ _ 4
S 5 y=Ae” 2
$ 4
$ A g
$ 4
> ' 4
‘:\ y = Az"e™ (:
S 4
) o 2
$ 4
$ 4
$ 4
$ 4
$ 4
$ 4
$ 4
> £
NP AP PP L PP LS LSS PSSP LS L LSS L LSS LSS LS PSS PSS PSS PSS PSS LSS LSS



MTH401:Grand Quiz

Quiz Start Time: 09:45 AM. 03

Question # 12 of 30 ( Start time: 09:48:55 AM. 03 January 2021 )

. P 1 4 -
Ifzﬂy'tdx + x'ty)‘dy =0 has the equivalent form as d (E .t‘ty‘t) = 0, then its solutionis — -

P A A AL AL AT A A A A e e e el el el ol el el el N ol ol ol ol o a0 o o o o o o o o ol o o e o el e

Select the comrect option
o I S
O @" o
% 31
] ry =c¢
Kl
o
-
yﬁ!
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 January :

Question # 13 of 30 ( Start time: 09:49:16 AM. 03 January 2021 ) Total Mar

() (n-1)

+ an 1y +...+a1y’ + agy = g(z).
If the input function, g(z) = cos4z, then the assumed particular solution y, could be

Select the corect option # Reload Math Equatid

Consider the non - homogeneous linear differential equation, a,y

O

O § Az’ 4+ Bz + C
\x Acosdxr + Bsindx

(A + B)(cos 4z + sin 4x)
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 Januan

Question # 14 of 30 ( Start time: 09:49:36 AM, 03 January 2021 ) Total M:

If A(t) is the amount ofa radioactive substance present at time ¢, the the rate of change of A(t)
with respect to ¢ is given by

Select the correct option

v\l
% dA — dt

O

O @ Ag el

dA
: ] e kA; kis a constant of proportionality
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S 4
S 4
2 MTH401:Grand Quiz Quiz Start Time: 09:45 AM, 03 Januz 5
2 Question # 15 of 30 ( Start time: 09:49:53 AM. 03 January 2021 ) Total 5
2 If the general solution of a separable differential equation issin 'y = cos ' = + ¢, provided that y[é} = é, then 5
S . 4
S 4
S 4
z Select the correct option 5
S : 4
S ’ 4
3 ° N4 ¢
S 4
S i 4
3 o &) $
S 2
S P4
d o 5
>

? O 4
$ 4
$ 4
d 0 Q, 4
$ ® 4
$ — 4
$ 4
$ 4
$ 4
S 4
$ 4
$ 4
$ 4
$ b4
$ b4
$ 4
$ 4
$ b4
> £
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MTH401:Grand Quiz Quiz Start Tim

Question # 16 of 30 ( Start time: 09:50:09 AM. 03 January 2021)

_ 2z

For f(z,y) 3y + 7, ftz, ty) = — — —
Select the correct option
M VV f{:ﬂ,y}
-
tf(z,y)
O N

O be tf(z, y)

£ T,
e f(z,y)
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 Janua

Question # 17 of 30 ( Start time: 09:50:24 AM, 03 January 2021 ) Total A

2
T ;
If d{?] = 0 is an equivalent form of the exact dif ferential equation : 2zxydr — .rzdy =0, then its solution is -

Select the correct option & Reload Math Equ

O c: y=rcx

T =cy
(@)

3 = ey
O Q~
r y=cz’
b
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 January 2021

Question # 18 of 30 ( Start time: 09:50:45 AM. 03 January 2021 ) Total Marks: 1

If & force acts upon a body. the acceleration is produced in the direction of the force whose magnitude is proporticnal to the magnitude of
force, is known as the

O

Select the correct option V
Hook's law z

Mewton's first law

O p
MNewton's second law

. (\, )

Mewton's third law %
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MTH401:Grand Quiz Quiz St:

Question # 19 of 30 { Start time: 09:51:01 AM, 03 January 2021)

What is annihilator operator of the function
glz) =4sinz

2

Select the correct option V

O 06 " -1)
O x@ (D* + 4)
S _
e (D* —4)
(D* +1)
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MTH401:Grand Quiz

Question # 20 of 30 ( Start time: 09:51:18 AM. 03 January 2021)

What iz annihilator operator of the function

glz) =z +5

?

Select the correct option

(D-4)

&

&)
&
e @ o

(D +5)*

O
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MTH401:Grand Quiz Quiz Start Time: 0945 AM. 03 Jai
Question # 21 of 30 ( Start time: 09:51:36 AM. 03 January 2021 ) Tol

For the nonexact differential equation
2_3 2 2 : 3.1
y(zy+ 227y ) der +z (zy —z°y" ) dy=0,ifzM(z,y) — yN(z,y) =z 'y #0,
then the integrating factor is - - -

Select the correct option

®
>

o ‘b@

O Qb o
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MTH401:Grand Quiz

Question # 22 of 30 ( Start time: 09:51:51 AM. 03 January 2021)

- - - of [ d% > I."I dy \ 2
The differential equation: \,.' (E) = "._. 1+ (E) has ——--- _

Select the correct option

order 2 and degree 4 vs
QD
b d

order 4 and degree 2

both order u@uu 2

both order and degree equal 4
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 January 20

Question # 23 of 30 ( Start time: 09:52:06 AM. 03 January 2021 ) Total Marks

A function satisfying the differential equation on the some interval I, containing a and b, whose graph
passes through two points (a, ) and (b, y1) is called solution of the value problem.

Select the correct option © Reload Math Equatio
initial

\)0
x§ boundary

O
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S 4
2 MTH401:Grand Quiz Quiz Start Time: 09:45 m 5
S 4
2 Question # 24 of 30 ( Start time: 09:52:23 AM. 03 January 2021 ) 5
2 Which of the following is a constant solution of separable differential equatin:un:% =(z + /) {y + V@]'? 5
S 4
S 4
S 4
z Select the correct option 5
S y=10 1
s _ \v g
-

S P4
S 4
D y=1 5
S

> 0 S ,
S P4
S P4
> y=0,1 4
> ' 4
3 O (\z $
d % 4
S 4
) y =i £ T =Set of Complexfiumbers (
Q <
S O 4
Q <
QS <
Q <
Q <
Q <
QS <
QS <
QS <
D <
QS <
> ' 4
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM, 03 Jan

Question # 25 of 30 ( Start time: 09:52:41 AM. 03 January 2021 ) Tot

d +y+1
Which of the following substitution will transform the dif ferential equation : d_y = % ,in to separabl
T zTt+y—

Select the correct option ® Reload Math Ed

r=X+hy=Y+Ek

2 \Y,
0 ©)
o @ y— vz

T =uvy

Click to Save Answer & Move to Next Q
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MTH401:Grand Quiz

Question # 26 of 30 ( Start time: 09:52:57 AM, 03 January 2021 )
The hook's law states that the force F is proportional to the

Select the correct option
Length 2

Elongation

® @

MNone of these
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MTH401:Grand Quiz Quiz

Question # 27 of 30 ( Start time: 09:53:11 AM. 03 January 2021 )

Wronskian of 1 and z°, W1, :122} —

Select the correct option V

0

O 0(9
A
-

b _d

MNone of these
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MTH401:Grand Quiz Quiz 5

Question # 28 of 30 ( Start time: 09:53:28 AM. 03 January 2021)
The gravitational force exerted by the earth on a body of mass m is called -———- of the body.

Select the correct option %'
Force
O 0(52\
weight
N\
. <
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Question # 29 of 30 ( Start time: 09:53:56 AM. 03 January 2021 )

Which of following is an implicit solution of the differential equation: d—i =y

Select the comrect option

r+y+4=0 i%
O

z? +y? —4=0
@
e

2 —y? —4=0
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MTH401:Grand Quiz Quiz Start Time: 09:45 AM. 03 January 202

Question # 30 of 30 ( Start time: 09:54:12 AM. 03 January 2021 ) Total Marks:

A function satisfying the differential equation on the interval I whose graph passes through (zg,yn) such

that the slope of the curve at the point is the number y'; is called solution of the value problem.

Select the correct option V & Reload Math Equations
initial

) ©

bedd

boundary
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